Potencias de 10 (G)

5.3203 10!

5.8398 = 10!

2.1502 = 10!

5.4674 10!

7.7262 = 10!

4.5962 + 10!

1.0563 + 10!

4.9038 + 10!

8.0089 + 10!

3.2392 +10!

Calcule los siguientes cocientes.

1.9596 + 10!

1.3671 = 10!

7.5916 + 10!

6.0661 + 10!

3.6023 = 10!

1.9204 = 10!

8.4505 = 10!

4.12=10!

9.5659 = 10!

3.1004 10!
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Potencias de 10 (G) Respuestas

5.3203 + 10!
0.53203
5.8398 ~ 10!
0.58398
2.1502 + 10!
0.21502
5.4674 = 10!
0.54674
7.7262 + 10!
0.77262
4.5962 = 10!
0.45962
1.0563 = 10!
0.10563
4.9038 = 10!
0.49038
8.0089 = 10!
0.80089
3.2392 = 10!
0.32392

Calcule los siguientes cocientes.

1.9596 = 10!
0.19596
1.3671 + 10!
0.13671
7.5916 + 10!
0.75916
6.0661 + 10!
0.60661
3.6023 ~ 10!
0.36023
1.9204 + 10!
0.19204
8.4505 10!
0.84505
4.12+10"
0.412
9.5659 + 10!
0.95659
3.1004 = 10!
0.31004
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